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1. Silicosis is caused by : 
 

1. flfydksfll gksrh gS % 

(A) Rocky dust  (A) pêkuh /kwy }kjk 

(B)  Sandy soil  (B) jsrhyh eǹk }kjk 

(C)  Coal dust  (C) dks;ys dh /kwy }kjk 

(D)  All of the above  (D) mi;qZDr lHkh 

2. Difference between intensity of earthquake  

3 and 6 is : 

 
2. HkwdEi ds 3 vkSj 6 dh rhozrk ds chp vUrj gS % 

(A) 1000 times  (A) 1000 xquk 

(B)  300 times  (B) 300 xquk 

(C)  200 times  (C) 200 xquk 

(D)  Cannot be measured  (D) ekih ugha tk ldrh 

3. In an ecosystem energy flow is : 
 

3. ikfjfLFkfrd rU= esa ÅtkZ dk izokg gksrk gS % 

(A) Unidirectional  (A) ,dfn’kh; 

(B)  Bidirectional  (B) f}fn’kh; 

(C)  Multidirectional  (C) cgqfn’kh; 

(D)  All of the above  (D) mi;qZDr lHkh 

4. The main threat to biodiversity in India is : 
 

4. Hkkjr esa tSofofo/krk dks lcls cM+k [krjk gS % 

(A) Landslide  (A) HkwfedVko ls 

(B)  Forest fire  (B) ouksa dh vkx ls 

(C)  Pollution  (C) iznw”k.k ls 

(D)  Habitat loss  (D) vkoklh; {k; ls 

5. From which tree Katha is obtained ? 
 

5. fdl isM+ ls dRFkk izkIr gksrk gS \ 

(A) Khair  (A) [kSj  

(B)  Kachnar  (B) dpukj  

(C)  Neem  (C) uhe  

(D)  Jatropa  (D) tSVªksik  
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6. Maximum biomass is produced in : 
 

6. lokZf/kd tSoHkkj iSnk gksrk gS % 

(A) Grasslands  (A) ?kkl ds eSnku esa 

(B)  Tropical Rain Forest  (B) m”.k dfVca/kh; o”kkZ ou esa 

(C)  Cultivated crops  (C) [ksrksa dh Qlyksa esa 

(D)  Oceans  (D) egklkxj esa 

7. Which of the following pollutions causes 

flurosis disease ? 

 
7. fuEufyf[kr esa ls dkSu&lk iznw”k.k ¶ywjksfll chekjh 

dk dkj.k gS \ 

(A) Air pollution  (A) ok;q iznw”k.k 

(B)  Water pollution  (B) ty iznw”k.k 

(C)  Noise pollution  (C) /ofu iznw”k.k 

(D)  Soil pollution  (D) Hkwfe iznw”k.k 

8. The concept of ecological pyramid was 

developed by : 

 
8. ikfjfLFkfrd fijkfeM dh ladYiuk fodflr dh Fkh % 

(A) Reiter  (A) jk;Vj us 

(B)  Elton  (B) ,YVu us 

(C)  Odum  (C) vksMe us 

(D)  Darwin  (D) MkfoZu us 

9. Chipko Movement is connected to : 
 

9. fpidks vkUnksyu lEcfU/kr gS % 

(A) Flood  (A) ck<+ ls 

(B)  Tribals  (B) tutkfr;ksa ls  

(C)  National disaster  (C) jk”Vªh; vkink ls 

(D)  Deforestation  (D) o{̀k dVku ls 

10. The least porous soil is : 
 

10. U;wure fNfnzy e`nk gS % 

(A) Sandy loam  (A) jsrhyh nkseV 

(B)  Loamy soil  (B) nkseV e`nk 

(C)  Clayey soil  (C) fpduh e`nk 

(D)  Clayey silt  (D) fpduh flYV 
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11. Which of the following pyramids is always 

upright ? 

 
11. fuEufyf[kr esa ls dkSu&lk fijkfeM lnSo Å/oZ gksrk 

gS \ 

(A) Pyramid of biomass  (A) tSo Hkkj fijkfeM 

(B)  Pyramid of energy  (B) ÅtkZ dk fijkfeM 

(C)  Pyramid of numbers  (C) thola[;k fijkfeM 

(D)  All of these  (D) ;s lHkh 

12. National Water Policy was implemented in 

the year : 

 
12. jk”Vªh; ty uhfr fdl o”kZ esa ykxw gqbZ \ 

(A) 2000  (A) 2000 esa 

(B)  1999  (B) 1999 esa 

(C)  2001  (C) 2001 esa 

(D)  2002  (D) 2002 esa 

13. Interlinking of more than one food chains is 

called : 

 
13. ,d ls vf/kd [kk| Ükà[kyk ds ijLij lEc) gksus dks 

dgrs gSa % 

(A) Food groups  (A) [kk| lewg 

(B)  Trophic level  (B) iks”k.k Lrj 

(C)  Food chains  (C) [kk| Ük`a[kyk 

(D)  Food web  (D) [kk| tky 

14. How much CO2 presence is considered in the 

atmosphere  ? 

 
14. ok;qe.My esa dkcZu MkbvkWDlkbM dh mifLFkfr 

fdruh ekuh tkrh gS \ 

(A) 0.01%  (A) 0.01% 

(B)  0.02%  (B)  0.02% 

(C)  0.03%  (C)  0.03% 

(D)  0.04%  (D)  0.04% 

15. The most famous Earth Summit is held in 

1992, was organized at : 

 
15. izfl) iF̀oh lEesyu 1992 esa vk;ksftr fd;k x;k  

Fkk % 

(A) Helsinki  (A) gsyfladh esa 

(B)  Kyoto  (B) D;ksVks esa 

(C)  Rio-de Janeiro  (C) fj;ks&Mh tusfj;ks esa 

(D)  Johannesburg  (D) TkksgkUlcxZ esa 
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16. One of the living fossil is : 
 

16. ,d thfor thok’e gS % 

(A) Taxus baccata  (A) VsDll cdkVk 

(B)  Ginkgo bioloba  (B) ftadks ckbyksck 

(C)  Abies pindrow  (C) ,oht+ fi.Mªks 

(D)  Juniperus species  (D) twfuisjl iztkfr 

17. „Minamata disaster‟ in Japan was caused by 

Pollution due to : 

 
17. tkiku esa ^feukekrk vkink* fdlds iznw”k.k ds dkj.k 

gqbZ Fkh \ 

(A) Lead  (A) lhlk ds 

(B)  Mercury  (B) ikjk ds 

(C)  Cadmium  (C) dSMfe;e ds 

(D)  Zinc  (D) ftad ds 

18. In visible light, white light breaks into seven 

different colours : 

 
18. nf̀”Vxkspj izdk’k esa] lQsn izdk’k lkr fofHkUu jaxksa esa 

fc[kjus dk Øe gS % 

(A) VBIGYOR  (A) VBIGYOR 

(B)  VIGBYOR  (B)  VIGBYOR 

(C)  VIBGYRO  (C)  VIBGYRO 

(D)  VIBGYOR  (D)  VIBGYOR 

19. Atmosphere consists of 79 per cent nitrogen 

and 21 per cent oxygen by : 

 
19. okrkoj.k esa 79 izfr’kr u=tu ,oa 21 izfr’kr 

vkWDlhtu gksrh gS % 

(A) Weight  (A) otu ls 

(B)  Density  (B) l?kurk ls 

(C)  Volume  (C) vk;ru ls 

(D)  All of the above  (D) mi;qZDr lHkh 

20. The first Act of the major Environmental 

Protection Act to be promulgated in India 

was : 

 
20. i;kZoj.k laj{k.k vf/kfu;e ds vUrxZr vkSipkfjd :i 

ls Hkkjr dk loZizFke vf/kfu;e Fkk % 

(A) Water Act  (A) ty vf/kfu;e 

(B)  Environmental Act  (B) i;kZoj.k vf/kfu;e 

(C)  Air Act  (C) ok;q vf/kfu;e 

(D)  Noise Pollution Act  (D) /ofu iznw”k.k vf/kfu;e 
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21. Maximum density of water is at : 
 

21. ikuh dk vR;f/kd ?kuRo gksrk gS % 

(A) 4° C  (A) 4°C ij 

(B)  0°C  (B) 0°C ij 

(C)  100°C  (C) 100°C ij  

(D)  272 °C  (D) 272°C ij  

22. In the atmosphere, the layer above the 

troposphere is : 

 
22. okrkoj.k esa] VªksiksfLQ;j ds Åij dh ijr gS % 

(A) Stratosphere  (A) LVªSVksfLQ;j 

(B)  Mesosphere  (B) ehtksfLQ;j 

(C)  Thermosphere  (C) FkeksZfLQ;j 

(D)  Exosphere  (D) ,sDlksfLQ;j 

23. WWF stands for : 
 

23. MCY;w- MCY;w- ,Q- dk iw.kZ Øe gS % 

(A) World Wide Fund  (A) oYMZ okbM Q.M 

(B)  Women Wrestling Federation  (B) oksesu jsÇLyx QsMjs’ku 

(C)  World Wide Forest  (C) oYMZ okbM QkWjsLV 

(D)  World Wealth Federation  (D) oYMZ osYFk QsMjs’ku 

24. UV radiation causes : 
 

24. ijkcSaxuh fofdj.k dk dkjd gS % 

(A) Liver cancer  (A) ;d̀r dSalj 

(B)  Lung cancer  (B) QsQM+ksa dk dSalj 

(C)  Mouth cancer  (C) eq¡g dk dSalj 

(D)  Skin cancer  (D) Ropk dk dSalj 

25. Light energy is converted into chemical 

energy by : 

 
25. izdk’k ÅtkZ dk jklk;fud ÅtkZ esa :ikUrj.k 

fuEuor~ gksrk gS % 

(A) Electrolysis  (A) bysDVªksykbfll }kjk 

(B)  Photosynthesis  (B) izdk’kla’ys”k.k }kjk 

(C)  Respiration  (C) ‘olu }kjk 

(D)  Transpiration  (D) mRLOksnu }kjk 
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26. At present the world population is increasing 

at the rate of : 

 
26. orZeku esa fo’o tula[;k of̀) nj gS % 

(A) 2%  (A) 2% 

(B)  2.5%  (B)  2.5% 

(C)  2.25%  (C)  2.25% 

(D)  3%  (D)  3% 

27. Chernobyl disaster occurred due to : 
 

27. pjuksfcy nq?kZVuk dk dkj.k Fkk % 

(A) Nuclear reactor explosion  (A) ijek.kq la;a= foLQksV 

(B)  Poisonous gas leakage  (B) tgjhyh xSl dk fjlko 

(C)  Forest fire  (C) taxy dh vkx 

(D)  Earthquake  (D) HkwdEi 

28. Environmental Protection Act in India was 

enacted in : 

 
28. Hkkjr esa i;kZoj.k laj{k.k vf/kfu;e ykxw gqvk % 

(A) 1974  (A) 1974 esa 

(B)  1976  (B) 1976 esa 

(C)  1980  (C) 1980 esa 

(D)  1986  (D) 1986 esa 

29. CBD is : 
 

29. lh- ch- Mh- gS % 

(A) Convention of Biodiversity  (A) tSofofo/krk le>kSrk 

(B)  Convention of Biological Diversity  (B) tSfod fofo/krk lEk>kSrk 

(C)  Council of Biodiversity  (C) tSofofo/krk ifj”kn~ 

(D)  Conservation of Biological Diversity  (D) tSfod fofo/krk laj{k.k 

30. Smog is the  combination of :  
 

30. /kwedqgk ¼LekWx½ feJ.k gS % 

(A) Smoke and fog  (A) /kqvk¡ vkSj dksgjk dk 

(B)  Air and water  (B) ok;q vkSj ikuh dk 

(C)  Water and smoke  (C) ikuh vkSj /kqvk¡ dk 

(D)  None of the above  (D) mi;qZDr esa ls dksbZ ugha 
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31. Soil salinity can be measured by : 
 

31. eǹk {kkfjrk dh eki dh tk ldrh gS % 

(A) Potometer  (A) iksVksehVj ls 

(B)  Porometer  (B) iksjksehVj ls 

(C)  Calorimeter  (C) dSyksjhehVj ls 

(D)  Conductivity meter  (D) daMfDVfoVh ehVj ls 

32. White revolution is related to : 
 

32. ‘osr ØkfUr lEcfU/kr gS % 

(A) House  (A) ?kjksa ls 

(B)  Fish production  (B) eRL; mRiknu ls 

(C)  Cotton production  (C) dikl mRiknu ls 

(D)  Milk production  (D) nqX/k mRiknu ls 

33. The function of haemoglobin in body is : 
 

33. ‘kjhj esa gheksXyksfcu dk dk;Z gS % 

(A) Transport of Oxygen  (A) vkWDlhtu dk ifjogu 

(B)  Destruction of Bacteria  (B) thok.kq dks u”V djuk 

(C)  Prevention of Anaemia  (C) jDrkYirk dks jksduk 

(D)  Utilization of Iron  (D) ykSg dk mi;ksx 

34. Carbon dating is used to determine the age  

of : 

 
34. dkcZu MsfVax fuEu dh vk;q fu/kkZj.k gsrq iz;qDr gksrh 

gS % 

(A) Rocks  (A) pêkuksa dh 

(B)  Plants  (B) ikS/kksa dh 

(C)  Fossils  (C) thok’eksa dh 

(D)  None of the above  (D) mi;qZDr esa ls dksbZ ugha 

35. Green house effect is due to the presence of : 
 

35. xzhu gkml izHkko fdlls izHkkfor gksrk gS % 

(A) Ozone layer in atmosphere  (A) okrkoj.k esa vkstksu ijr  

(B)  Moisture in atmosphere  (B) okrkoj.k esa ueh  

(C)  Increase in lead  (C) lhlk esa of̀) 

(D)  CO2 in atmosphere  (D) okrkoj.k esa dkcZu MkbvkWDlkbM  
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36. Bharati Vidyapeeth Institute of Environment 

Education and Research (BVIEER) is situated 

at which place ? 

 

36. Hkkjrh fo|kihB i;kZoj.k f’k{kk vkSj vuqla/kku laLFkku 

¼ch- oh- vkbZ- bZ- bZ- vkj-½ fdl txg ij fLFkr gS \ 

(A) Pune  (A) iq.ks 

(B) Mumbai  (B) eqEcbZ 

(C) Delhi  (C) fnYyh 

(D) Ahmedabad  (D) vgenkckn 

37. What percentage of surface of Earth is 

covered by water ? 

 

37. iF̀oh dh lrg dk fdruk izfr’kr ikuh ls vkPNkfnr 

gS \ 

(A) 60%  (A) 60% 

(B) 70%  (B) 70% 

(C) 95%  (C) 95% 

(D) 85%  (D) 85% 

38. Where was the first large scale nuclear  

power plant in the world became operational 

in 1957 ? 

 

38. 1957 esa nqfu;k ds igys cM+s iSekus ij ijek.kq ÅtkZ 

la;a= dgk¡ pkyw gqvk Fkk \ 

(A) Germany  (A) teZuh 

(B) Pennsylvania, US  (B) isaflYkosfu;k  vesfjdk 

(C) Japan  (C) tkiku 

(D) India  (D) Hkkjr 

39. Out of 70% water on earth‟s surface, what 

percentage of it is fresh-water ? 

 

39. iF̀oh dh lrg ij 70% ls vf/kd ikuh ik;k tkrk 

gSA mlesa ls rkt+k ikuh dk izfr’kr D;k gS \ 

(A) 4%  (A) 4% 

(B) 15%  (B) 15% 

(C) 3%  (C) 3% 

(D) 1%  (D) 1% 

40. Who wrote the well known book “Silent 

Spring” ? 

 

40. izfl) iqLrd ßlkbysaV fLizaxÞ fdlus fy[kh Fkh \ 

(A) Rachel Carson  (A) jkgsy dklZu 

(B) Charles Darwin  (B) pkYlZ MkfoZu 

(C) Ralph Emerson  (C) jkYQ belZu 

(D) Henry Thoreau  (D) gsujh Fkksjks 
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41. Who wrote the book “Origin of Species” ? 
 

41. iqLrd ßiztkfr;ksa dh mRifŸkÞ fdlus fy[kh \ 

(A) Aristotle  (A) vjLrw 

(B) Charles Darwin  (B) pkYlZ MkfoZu 

(C) Ernst Mayer  (C) vuZLV es;j 

(D) Watson and Crick  (D) okVlu vkSj fØd 

42. Which layer of the atmosphere contains a 

layer of sulphates which is important for the 

formation of rain ? 

 

42. okrkoj.k dh fdl ijr  esa lYQsV dh ijr gksrh gS 

tks o”kkZ ds xBu ds fy, egRoiw.kZ gS \ 

(A) Mesosphere  (A) e/;e.My 

(B) Troposphere  (B) lerkie.My 

(C) Stratosphere  (C) {kksHke.My 

(D) Thermosphere  (D) rkie.My 

43. Ozone is present in which layer of the 

atmosphere ? 

 

43. vkstksu okrkoj.k dh dkSu&lh ijr esa ekStwn gS \ 

(A) Mesosphere  (A) e/;e.My 

(B) Troposphere  (B) lerkie.My 

(C) Stratosphere  (C) {kksHke.My 

(D) Thermosphere  (D) rkie.My 

44. In a biotic community the primary consumers 

are : 

 

44. tSfod leqnk; esa izkFkfed miHkksDrk dkSu gS \ 

(A) Detritivores  (A) vijngkjh 

(B) Herbivores  (B) ‘kkdkgkjh 

(C) Carnivores  (C) ek¡lkgkjh 

(D) Omnivores  (D) lokZgkjh 

45. The outermost layer of the earth is : 
 

45. iF̀oh dh lcls ckgjh ijr dkSu&lh gS \ 

(A) Magma  (A) esXek 

(B) Mantle  (B) es.Vy 

(C) Crust  (C) HkwiiZVh 

(D) Solid iron core  (D) Bksl yksgs dh dksj 



 

FES-(A)10/FES-(B)10/FES-10 ( 10 )  2018 

46. More than half of the earth‟s flora and fauna 

are found in : 

 

46. iF̀oh ds isM+ksa vkSj thoksa ds vk/ks ls vf/kd 
------------------

 esa 

ik, tkrs gSa \ 

(A) Tundra  (A) VqaMªk 

(B) Tropical rain forests  (B) m”.k dfVca/kh; o”kkZ ou 

(C) Grasslands  (C) ?kkl ds eSnku 

(D) Chaparral  (D) pSijy 

47. The energy transfer to the next higher level : 
 

47. vxys mPp Lrj ij ÅtkZ gLrkarj.k fdl izdkj ls 

gksrk gS \ 

(A) Increases  (A) of̀) 

(B) Decreases  (B) ?kVrs gq, 

(C) Remains the same  (C) ,d gh jgrk gS 

(D) None of these  (D) buesa ls dksbZ ugha 

48. Which of the following is a secondary 

pollutant ? 

 

48. fuEufyf[kr esa ls dkSu&lk ek/;fed iznw”kd gS \ 

(A) CO2  (A) CO2 

(B) CO  (B) CO 

(C) O3  (C) O3 

(D) SO2  (D) SO2 

49. In which year India launched the Ganga 

Action Plan (GAP) ? 

 

49. fdl lky Hkkjr us xaxk ,D’ku Iyku ¼th- ,- ih-½ ‘kq: 

fd;k \ 

(A) 1975  (A) 1975 

(B) 1980  (B) 1980 

(C) 1985  (C) 1985 

(D) 1982  (D) 1982 

50. What amount of % sewage and municipal 

effluents account for the pollution load in  

river ? 

 

50. unh esa iznw”k.k Hkkj ds fy, lhost vkSj uxjikfydk ds 

iznw”k.k dh ek=k fdruh gS \ 

(A) 25%  (A) 25% 

(B) 50%  (B) 50% 

(C) 75%  (C) 75% 

(D) 40%  (D) 40% 
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51. Which of the following is not a major green-

house gas ? 

 

51. fuEufyf[kr esa ls dkSu&lh izeq[k xzhugkml xSl ugha 

gS \ 

(A) Water vapour  (A) ty ok”i 

(B) Carbon dioxide  (B) dkcZu MkbvkWDlkbM 

(C) Ozone  (C) vkstksu 

(D) Methane  (D) ehFksu 

52. Problem of solid waste disposal can be 

reduced through : 

 

52. Bksl dpjk fuiVku dh leL;k dks de dj ldrs  

gSa % 

(A) Lesser pollution  (A) de iznw”k.k }kjk 

(B) More timber  (B) vf/kd ydM+h }kjk 

(C) Population control  (C) tula[;k fu;a=.k }kjk 

(D) Recycling  (D) jhlkbÇDyx }kjk 

53. The level at which sound becomes physically 

painful is : 

 

53. fdl Lrj ij /ofu ‘kkjhfjd :i ls nnZukd gks tkrh 

gS \ 

(A) Above 95 dB  (A) 95 dB ls Åij 

(B) Above 65 dB  (B) 65 dB ls Åij 

(C) Above 80 dB  (C) 80 dB ls Åij 

(D) Above 90 dB  (D) 90 dB ls Åij 

54. Where was the first controlled fission of an 

atom carried out ? 

 

54. ijek.kq dk igyk fu;af=r fo[kaMu dgk¡ Fkk \ 

(A) Germany  (A) teZuh 

(B) Japan  (B) tkiku 

(C) U.S.  (C) vesfjdk 

(D) None of the above  (D) mi;qZDr esa ls dksbZ ugha 

55. Disaster management includes : 
 

55. vkink izca/ku esa ‘kkfey gSa % 

(A) Mitigation  (A) ‘keu 

(B) Reconstruction  (B) iqufuZekZ.k 

(C) Rehabilitation  (C) iquokZl 

(D) All of the above  (D) mi;qZDr lHkh 
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56. Areas that are rich in species diversity are 

called ____________of diversity. 

 

56. iztkfr;ksa dh fofo/krk esa le)̀ {ks=ksa dks 
---------------

 fofo/krk 

dgk tkrk gSA 

(A) Species   (A) iztkfr  

(B) Ecosystem  (B) ikfjfLFkfrdh ra= 

(C) Hotspot  (C) gkWVLikWV 

(D) Biodiversity  (D) tSofofo/krk 

57. How many species of mammals are found in 

India ? 

 

57. Hkkjr esa fdruh iztkfr;ksa ds Lruik;h tho ik, tkrs  

gSa \ 

(A) 1200  (A) 1200 

(B) 453  (B) 453 

(C) 182  (C) 182 

(D) 350  (D) 350 

58. Which of the following is known as “flame of 

the forest” ? 

 

58. fuEufyf[kr esa ls dkSu&lk ßtaxy dh ykSÞ ds :i esa 

tkuk tkrk gS \ 

(A) Butea monosperm  (A) cksfV;k eksuksLieZ 

(B) Jack fruit  (B) dVgy 

(C) Jamun  (C) tkequ 

(D) Zizyphus  (D) ft+t+hQl 

59. Which one is the most famous water bird 

sanctuary in the world ? 

 

59. nqfu;k esa lcls izfl) okVj cMZ lSaDpqvjh dkSu&lk  

gS \ 

(A) Ranthambor sanctuary  (A) j.kFkEHkkSj vH;kj.; 

(B) Bharatpur sanctuary  (B) Hkjriqj vH;kj.; 

(C) Manas sanctuary  (C) ekul vH;kj.; 

(D) Gir sanctuary  (D) fxj vH;kj.; 

60. The Marine National Park is situated at  : 
 

60. ejhu us’kuy ikdZ dgk¡ fLFkr gS \ 

(A) Bhopal  (A) Hkksiky 

(B) Gujarat  (B) xqtjkr 

(C) Kerala  (C) dsjy 

(D) Mumbai  (D) eqEcbZ 
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61. UNCED stands for  : 
 

61. UNCED dk vFkZ gS 
------------------

 

(A) United Nations Conference on 

Environment and Development. 

 (A) ;wukbVsM us’kal dkWUÝsal vkWu ,uok;juesaV ,aM 

MsoyiesaV 

(B) United Nations Confederation on 

Environment and Development. 

 (B) ;wukbVsM us’kal dkWUQsMj’ku vkWu ,uok;juesaV 

,aM MsoyiesaV 

(C) United Nations Conference on 

Economic Development. 

 (C) ;wukbVsM us’kal dkWUÝsal vkWu bduksfed 

MsoyiesaV 

(D) United Nations Confederation on 

Economical and Development. 

 (D) ;wukbVsM us’kal dkWUQsMjs’ku vkWu bduksfedy 

,aM MsoyiesaV 

62. When was „The Wildlife Protection Act‟ 

passed ? 

 

62. ^n okYMykbQ izksVsD’ku ,DV* dc ikfjr fd;k x;k 

Fkk \ 

(A) 1992  (A) 1992 

(B) 1986  (B) 1986 

(C) 1972  (C) 1972 

(D) 1981  (D) 1981 

63. What is Biodiversity ? 
 

63. tSofofo/krk D;k gS \ 

(A) Many type of flora and fauna in one 

forest. 

 (A) ,d ou esa dbZ izdkj ds ouLifr vkSj tho 

ik;s tkrs gSaA 

(B) Many type of flora and fauna in many 

forests. 

 (B) dbZ ouksa esa dbZ izdkj ds ouLifr vkSj tho 

ik;s tkrs gSaA 

(C) Many population of one species in one 

forest. 

 (C) ,d taxy esa ,d iztkfr dh dbZ vkcknhA 

(D) All the above are true  (D) mi;qZDr lHkh lR; gSa 

64. Number of atoms in ozone molecules is : 
 

64. vkstksu v.kqvksa esa ijek.kqvksa dh la[;k % 

(A) 1  (A) 1 

(B) 2  (B) 2 

(C) 3  (C) 3 

(D) 4  (D) 4 

65. Which of the following is a water-borne 

disease ? 

 

65. fuEufyf[kr esa ls dkSu&lk ,d ty tfur jksx gS \ 

(A) Influenza  (A) bU¶yq,atk 
(B) Cholera  (B) gStk 
(C) Cancer  (C) dSalj 
(D) Heart attack  (D) gkVZ vVSd 
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66. In which year Hiroshima and Nagasaki 

incident took place ? 

 

66. fdl o”kZ esa fgjksf’kek vkSj ukxklkdh ?kVuk gqbZ \ 

(A) 1945  (A) 1945 

(B) 1948  (B) 1948 

(C) 1942  (C) 1942 

(D) 1941  (D) 1941 

67. Chlorofluorocarbons are primarily used as  : 
 

67. Dyksjks¶ywjksdkcZUl eq[;r% 
-------------------

 esa iz;ksx fd;k tkrk 

gS \ 

(A) Refrigerants  (A) jsfÝtjsaV~l 

(B) Fuels of crafts  (B) f’kYi ds b±/ku 

(C) Repairers of ozone layer  (C) vkstksu ijr dh ejEer djus okys 

(D) Repairers of troposphere  (D) VªksiksLQh;j ds fjis;jlZ 

68. Which of the following gas does not 

contribute to the global warming ? 

 

68. fuEufyf[kr esa ls dkSu&lh xSl Xykscy okfe±x esa 

;ksxnku ugha nsrh gS \ 

(A) Methane  (A) ehFksu 

(B) Carbon dioxide  (B) dkcZu MkbvkWDlkbM 

(C) Sulphur  (C) lYQj 

(D) Acetylene  (D) ,lhfVyhu 

69. Effects of CFC can be retained in atmosphere 

for upto  : 

 

69. lh- ,Q- lh- ds izHkko dks okrkoj.k esa fdrus le; 

rd cuk, j[kk tk ldrk gS \ 

(A) Hundred years  (A) lkS o”kZ 

(B) Few months  (B) dqN eghus 

(C) Year  (C) lky 

(D) Week  (D) lIrkg 

70. When huge amount of sewage is dumped into 

a river, its B.O.D.  will  : 

 

70. tc cM+h ek=k esa lhost dks unh esa Qasad fn;k tkrk 

gS  rks ch- vks- Mh- esa D;k ifjorZu gksxk \ 

(A) Slightly decrease  (A) FkksM+k de 

(B) Remain unchanged  (B) vifjofrZr 

(C) Increase  (C) c<+sxk 

(D) Decrease  (D) ?kVsxk 
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71. The virus causing AIDS is :  
 

71. fo”kk.kq tks ,M~l dk dkj.k gS % 

(A) HMV  (A) ,p- ,e- oh- 

(B)  HIV  (B) ,p- vkbZ- oh- 

(C)  TMV  (C) Vh- ,e- oh- 

(D)  TLC  (D) Vh- ,y- lh- 

72. Which one of the following gas causes of 

acid rain ?  

 
72. fuEufyf[kr eas ls dkSu&lh xSl vEyh; o”kkZ dk dkjd 

gS \ 

(A) Hydrogen   (A) gkbMªkstu 

(B)  Sulphur dioxide and nitrogen dioxide   (B) lYQj MkbvkWDlkbM vkSj ukbVªkstu Mkb& 

vkWDlkbM 

(C)  Methane   (C) ehFksu 

(D)  Carbon dioxide   (D) dkcZu MkbvkWDlkbM 

73. The „Hot Spots‟ are the areas of :  
 

73. ^gkWV LikWV {ks= gS % 

(A) Hot springs   (A) xeZ >jus  

(B)  Grasslands   (B) ?kkl ds eSnku 

(C)  High biodiversity under threat   (C) vf/kd tSofofo/krk foyqIrrk dh vksj 

(D)  Warm Places   (D) xeZ LFkku 

74. Asian Lions are generally found in : 
 

74. ,f’k;u ‘ksj lkekU;r;k ik;s tkrs gSa % 

(A) Sunderban  (A) lqUnjcu esa 

(B)  Rajaji National Park  (B) jktkth jk”Vªh; m|ku esa 

(C)  Gir National Park  (C) fxj jk”Vªh; m|ku esa 

(D)  Dudhwa National Park  (D) nq/kok jk”Vªh; m|ku esa 

75. In the food chain, Grass-Rat-Snake, the Rat  

is :  

 
75. [kk| Ükà[kyk] ?kkl&pwgs&lk¡i esa pwgk gS % 

(A) Primary Consumer   (A) izFke miHkksDRkk 

(B)  Primary Producer   (B) izFke mRiknd  

(C)  Secondary Consumer   (C) f}rh; miHkksDrk 

(D)  Secondary Producer   (D) f}rh; mRiknd  
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76. Which of the following is a non-renewable 

resource ? 

 
76. fuEufyf[kr eas ls dkSu lk vuohdj.kh; lalk/ku gS \ 

(A) Plants   (A) ikS/ks  

(B)  Water   (B) ikuh 

(C)  Minerals   (C) [kfut inkFkZ 

(D)  Soil  (D) feV~Vh 

77. Cause of Minimata disease is :  
 

77. feuhekVk chekjh dk izeq[k dkj.k gS % 

(A) Lead   (A) lhlk 

(B)  Mercury   (B) ikjk 

(C)  Arsenic   (C) vklsZfud 

(D)  Cadmium  (D) dSMfe;e 

78. The most stable ecosystem  is :  
 

78. lcls LFkk;h ikfjrU= gS % 

(A) Ocean   (A) leqnz 

(B)  Forest   (B) ou 

(C)  Desert   (C) e#LFky 

(D)  Mountain  (D) ioZr 

79. Maximum permissible noise level for road 

traffic near residential areas is :  

 
79. lM+d VªSfQd ds fy;s vkcknh {ks= ds fudV vf/kdre 

/ofu Lrj Lohd̀r gS % 

(A) 70 dB  (A) 70 Mh- ch- 

(B)  85 dB  (B) 85 Mh- ch- 

(C)  100 dB  (C) 100 Mh- ch- 

(D)  120 dB  (D) 120 Mh- ch- 

80. Largest sized bird is : 
 

80. lcls cM+h fpfM+;k gS % 

(A) Peacock  (A) eksj 

(B)  Penguin  (B) isafXou 

(C)  Ostrich  (C) ‘kqrqjeqxZ 

(D)  Crane  (D) Øsu 

81. Tehri dam is constructed on the river : 
 

81. fVgjh ck¡/k fdl unh ij cuk;k x;k gS \ 

(A) Alaknanda  (A) vyduUnk 

(B)  Gangotri  (B) xaxks=h 

(C)  Bhagirathi  (C) HkkxhjFkh 

(D)  Mandakini  (D) eUnkfduh 
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82. Blue revolution is related to :  
 

82. uhyh ØkfUr lEcfU/kr gS % 

(A) Silk production   (A) js’ke mRiknu ls  

(B)  Clean atmosphere   (B) LoPN ok;qe.My ls  

(C)  Water conservation   (C) ty laj{k.k ls  

(D)  Fish production  (D) eNyh mRiknu ls  

83. Cold desert in India is found in :  
 

83. Hkkjr eas BaMs e#LFky ik;s tkrs gSa % 

(A) Ladakh   (A) yík[k esa 

(B)  Manipur   (B) ef.kiqj esa 

(C)  Thar   (C) Fkkj esa 

(D)  Uttarakhand   (D) mŸkjk[k.M esa 

84. The percentage of nitrogen in atmosphere : 
 

84. okrkoj.k esa ukbVªkstu dk izfr’kr gS % 

(A) 78%  (A) 78 izfr’kr 

(B)  70%  (B) 70 izfr’kr 

(C)  68%  (C) 68 izfr’kr 

(D)  60%  (D) 60 izfr’kr 

85. High amount of E. coli bacteria in water is an 

indicator of :  

 
85. ty eas vR;f/kd ek=k eas bZ- dksykbZ dh mifLFkfr 

ladsrd gS % 

(A) Hardness of water   (A) ty dh dBksjrk dk  

(B)  Industrial pollution   (B) vkS|ksfxd iznw”k.k dk  

(C)  Sewage pollution   (C) eyew= vof’k”V iznw”k.k dk  

(D)  Presence of chlorine in water  (D) ty eas Dyksjhu dh mifLFkfr dk  

86. BOD (Biological Oxygen Demand) in fresh- 

water should not exceed beyond the 

following : 

 
86. LoPN ty eas ch- vks- Mh- ¼ck;ksykWftdy vkWDlhtu 

fMek.M½ fuEufyf[kr ls vf/kd ugha gksuh pkfg;s % 

(A) 5 ppm  (A) 5 ih- ih- ,e- 

(B)  10 ppm  (B) 10 ih- ih- ,e- 

(C)  25 ppm  (C) 25 ih- ih- ,e- 

(D)  50 pmm  (D) 50 ih- ih- ,e- 

87. Soil pollution is caused by :  
 

87. Hkwfe iznw”k.k dk dkjd gS % 

(A) Agrochemicals/fertilizers   (A) df̀”k jlk;u 

(B)  Cowdung   (B) xkscj 

(C)  Domestic effluents   (C) ?kjsyw vif’k”V 

(D)  Automobile exhausts   (D) xkfM+;ksa dk /kqvk¡ 
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88. Pollutant from motor-car exhaust that causes 

metal disease is :  

 
88. eksVj&dkj ds /kq,¡ ls fudyk iznw”kd tks esVy jksXk 

QSykrk gS % 

(A) Mercury   (A) ikjk 

(B)  Lead   (B) lhlk 

(C)  Nickel   (C) fufdy 

(D)  Zinc   (D) tLrk 

89. Reclamation of saline and alkaline soils can 

be done by adding :  

 
89. yo.kh; ,oa {kkjh; Hkwfe dk m)kj fd;k tk ldrk  

gS % 

(A) Gypsum   (A) ftIle feykdj 

(B)  Nitrogen   (B) ukbVªkstu feykdj 

(C)  Potassium   (C) iksVSf’k;e feykdj 

(D)  Phosphorus   (D) QkWLQksjl feykdj 

90. International unit of measuring radioactivity 

is :  

 
90. jsfM;ks/kfeZrk ekius dh vUrjkZ”Vªh; bdkbZ gS % 

(A) Becquerel   (A) csD;wjsy  

(B)  Curie   (B) D;wjh 

(C)  Rad   (C) jkM 

(D)  Roentgen   (D) jksVstu 

91. Which of the following food chain directly 

depends on solar radiations ?   

 
91. fuEufyf[kr esa ls dkSu&lh [kk| Üka[̀kyk lh/ks lkSj 

fofdj.kksa ij fuHkZj gksrh gS \  

(A) Parasitic food chain   (A) ijthoh [kk| Ükà[kyk 

(B)  Grazing food chain  (B) pkj.k [kk| Üka[̀kyk 

(C)  Detritus food chain  (C) er̀Hk{kh [kk| Ükà[kyk 

(D)  None of the above   (D) mi;qZDr eas ls dksbZ ugha  

92. Which of the following is not related to 

Indian Desert Plants ?  

 
92. fuEufyf[kr eas ls dkSu Hkkjrh; e#LFky ikS/kksa ls 

lEcfU/kr ugha gS \ 

(A) Thorny trees   (A) FkksuhZ Vªh 

(B)  Bushes   (B) cqlst 

(C)  Cactus   (C) dSDVl 

(D)  Deodar   (D) nsonkj 
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93. Water (Prevention and Control of Pollution) 

Act was enacted in : 

 
93. ty ¼fuokj.k ,oa iznw”k.k fu;a=.k½ vf/kfu;e ykxw 

gqvk % 

(A) 1988  (A) 1988 esa 

(B)  1974  (B)  1974 esa 

(C)  1972  (C)  1972 esa 

(D)  1981  (D)  1981 esa 

94. Red List of Red Data Book contains 

information about :  

 
94. jsM MkVk cqd eas jsM fyLV esa lwpuk gksrh gS % 

(A) Red flowers   (A) yky iq”iksa dh 

(B)  Red fish   (B) yky eNfy;ksa dh   

(C)  Endangered plants and animals    (C) ladVxzLr ikS/ks rFkk tho&tUrqvksa dh  

(D)  All plants and animals   (D) lHkh ikS/ks rFkk tho&tUrqvksa dh  

95. Which gas was leaked in Bhopal in 1984 ? 
 

95. 1984 esa Hkksiky eas fdl xSl dk fjlko gqvk Fkk \ 

(A) Methyl isocyanate (MIC)   (A) esfFky vkblkslk;usV 

(B)  Sulphur dioxide   (B) lYQj MkbvkWDlkbM 

(C)  Carbon dioxide  (C) dkcZu MkbvkWDlkbM 

(D)  Nitrogen oxide  (D) ukbVªkstu vkWDlkbM 

96. Who was awarded Magsaysay award for 

encouraging water management system ?  

 
96. ty izcU/ku ra= dks c<+kok nsus ds fy;s eSxlsls 

iqjLdkj fdls fn;k x;k \ 

(A) Rajendra Singh   (A) jktsUnz flag  

(B)  Anna Hajare   (B) vUuk gtkjs  

(C)  Jamuna Lal Bajaj   (C) tequk yky ctkt 

(D)  Vandana Shiva   (D) oUnuk f’kok 

97. A disease borne from polluted water is :  
 

97. chekjh tks xans ty ls iSnk gksrh gS % 

(A) Backache   (A) ihB nnZ  

(B)  Jaundice   (B) ihfy;k  

(C)  Deafness   (C) cgjkiu 

(D)  AIDS  (D) ,M~l 
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98. The largest desert of the world is :  
 

98. fo’o dk lcls cM+k e#LFky gS % 

(A) Sahara   (A) lgkjk  

(B)  Gobi   (B) xksch 

(C)  Kalahari   (C) dkykgkjh  

(D)  Arabian   (D) vjsfc;u 

99. Which of the following are hot-spots of 

biodiversity in India ?  

 
99. fuEufyf[kr eas ls dkSu Hkkjr esa tSofofo/krk ds gkWV& 

LikWV gSa \ 

(A) Eastern and Western Ghats   (A) iwohZ ,oa if’peh ?kkV 

(B)  Eastern Himalayan   (B) iwohZ fgeky; 

(C)  Sundaland   (C) lqUMkySUM 

(D)  All of the above   (D) mi;qZDr lHkh 

100. Earth Summit, 1992 was held in :  
 

100. 1992 eas iF̀oh lEesyu gqvk Fkk % 

(A) Rio-de-Janeiro   (A) fjvks&Mh&tsusjks esa 

(B)  Washington   (B) okÇ’kxVu esa 

(C)  Sydney   (C) flMuh esa 

(D)  India  (D) Hkkjr esa 

 

 

 

 

 

 

 

 

 

 

 

 

 


